

ON A SUBCLASS OF CERTAIN HARMONIC MEROMORPHIC FUNCTIONS

K. AL SHAQSI and MASLINA DARUS

(Received October 15, 2005)

Submitted by K. K. Azad

Abstract

In this paper, we introduce a new subclass of harmonic meromorphic functions. Coefficient bounds, distortion bounds, extreme points, convolution conditions and convex linear combinations for the functions belonging to this class are obtained.

1. Introduction

A continuous function $f = u + iv$ is a complex valued harmonic function in a domain $D \subset C$ if both u and v are real harmonics in D . In any simply connected domain we write $f = h + \bar{g}$, where h and g are analytic in D . A necessary and sufficient condition for f to be locally univalent and orientation preserving in D is that $|h'| > |g'|$ in D (see [1]). Hengartner and Schober [2] investigated functions harmonic in the exterior of the unit disk $\tilde{U} = \{z : |z| > 1\}$, among other things they showed that complex valued, harmonic, orientation preserving univalent mapping

2000 Mathematics Subject Classification: 30C45.

Keywords and phrases: meromorphic functions, harmonic functions, univalent.

The work presented here is supported by IRPA 09-02-02-10029 EAR.

© 2006 Pushpa Publishing House

f , defined in \tilde{U} and satisfying $f(\infty) = \infty$, must admit the representation

$$f(z) = h(z) + \overline{g(z)}, \quad (1.1)$$

where $h(z)$ and $g(z)$ are defined by

$$h(z) = z + \sum_{n=1}^{\infty} a_n z^{-n} \quad \text{and} \quad g(z) = \sum_{n=1}^{\infty} b_n z^{-n}, \quad |z| \in \tilde{U}. \quad (1.2)$$

For $0 \leq \alpha < 1$, $0 \leq \lambda \leq 1$, $k \geq 0$ and $0 \leq \gamma \leq 2\pi$, let $M_H(\alpha, \lambda, k)$ consist of functions f satisfying the conditions

$$\operatorname{Re} \left\{ (1 + ke^{i\gamma}) \left(\frac{zf'(z)}{\lambda zf'(z) + (1-\lambda)f(z)} \right) - ke^{i\gamma} \right\} \geq \alpha. \quad (1.3)$$

Also let $M_{\overline{H}}(\alpha, \lambda, k)$ be the subclass of $M_H(\alpha, \lambda, k)$ consisting of functions $f = h + \overline{g}$ for which

$$h(z) = z + \sum_{n=1}^{\infty} a_n z^{-n}, \quad g(z) = -\sum_{n=1}^{\infty} b_n z^{-n}, \quad a_n \geq 0, \quad b_n \geq 0. \quad (1.4)$$

Note that the class of harmonic meromorphic starlike functions has been studied by Jahangiri [3] and Jahangiri and Silverman [4]. We also note the class $M_H(\alpha, 0, 1)$ of harmonic meromorphic starlike functions studied by Rosy et al. [5].

Here we state a result due to Jahangiri [3], which we will use throughout this paper.

Theorem 1.1. *Let $f = h + \overline{g}$ with h and g of the form (1.2). If*

$$\sum_{n=1}^{\infty} [(n+\alpha)|a_n| + (n-\alpha)|b_n|] \leq 1-\alpha, \quad (1.5)$$

then f is harmonic, orientation preserving and univalent in \tilde{U} .

2. Coefficient Bounds

First we prove a sufficient coefficient bound.

Theorem 2.1. Let $f = h + \bar{g}$ with h and g be given by (1.2). If

$$\sum_{n=1}^{\infty} (\{n(1+k) - (\alpha+k)(\lambda(n+1)-1)\} |a_n| + \{n(1+k) - (\alpha+k)(\lambda(n-1)+1)\} |b_n|) \leq 1 - \alpha, \quad (2.1)$$

then f is harmonic, orientation preserving and univalent in \tilde{U} and $f \in M_H(\alpha, \lambda, k)$.

Proof. Consider the function $f = h + \bar{g}$, where h and g are given by (1.2). In [4] it has been proved that if $\sum_{n=1}^{\infty} n(|a_n| + |b_n|) \leq 1$, then f is harmonic, orientation preserving and univalent in \tilde{U} . For $0 \leq \lambda < 1$, note that

$$n \leq (n(1+k) - (\lambda(n+1)-1)(\alpha+k))/1 - \alpha$$

and

$$n \leq (n(1+k) - (\lambda(n-1)+1)(\alpha+k))/1 - \alpha.$$

Suppose that (2.1) holds. Then we have

$$\operatorname{Re} \left\{ \left[\frac{zh'(z) - \overline{zg'(z)}}{\lambda(zh'(z) - \overline{zg'(z)}) + (1-\lambda)(h(z) + \bar{g}(z))} \right] (1 + ke^{i\gamma}) - ke^{i\gamma} \right\} \geq \alpha, \quad (2.2)$$

where $z = re^{i\gamma}$, $0 \leq \gamma \leq 2\pi$, $0 \leq r < 1$, $k \geq 0$, $0 \leq \alpha < 1$ and $0 \leq \lambda \leq 1$.

Now let

$$\begin{aligned} A(z) &= (1 + ke^{i\gamma}) [zh'(z) - \overline{zg'(z)}] \\ &\quad - ke^{i\gamma} [\lambda(zh'(z) - \overline{zg'(z)}) + (1-\lambda)(h(z) + \bar{g}(z))] \end{aligned} \quad (2.3)$$

and

$$B(z) = \lambda(zh'(z) - \overline{zg'(z)}) + (1-\lambda)(h(z) + \bar{g}(z)). \quad (2.4)$$

For $0 \leq \alpha < 1$, we observe that

$$|A(z) + (1-\alpha)B(z)| - |A(z) - (1+\alpha)B(z)| \geq 0. \quad (2.5)$$

From (2.3) and (2.4), we note that

$$\begin{aligned}
& |A(z) + (1 - \alpha)B(z)| \\
&= |((1 - \alpha) - ke^{i\lambda})(\lambda zh'(z) + (1 - \lambda)h(z)) + (1 + ke^{i\gamma})(zh'(z)) \\
&\quad + \overline{((1 - \alpha) - ke^{i\lambda})(-\lambda zg'(z) + (1 - \lambda)g(z)) + (1 + ke^{i\gamma})(-zg'(z))}| \\
&\quad \left| (2 - \alpha)z - \sum_{n=1}^{\infty} (n(1 + ke^{i\lambda}) + (\lambda(n + 1) - 1)(1 - \alpha - ke^{i\lambda}))a_n z^{-n} \right. \\
&\quad \left. - \sum_{n=1}^{\infty} (n(1 + ke^{i\lambda}) + (\lambda(n - 1) + 1)(1 - \alpha - ke^{i\lambda}))b_n z^{-n} \right| \\
&\geq (2 - \alpha)|z| - \sum_{n=1}^{\infty} (n(1 + k) + (\lambda(n + 1) - 1)(1 - \alpha - k))|a_n||z|^{-n} \\
&\quad - \sum_{n=1}^{\infty} (n(1 + k) + (\lambda(n - 1) + 1)(1 - \alpha - k))|b_n||z|^{-n}
\end{aligned}$$

and

$$\begin{aligned}
& |A(z) - (1 + \alpha)B(z)| \\
&= |((1 + \alpha) + ke^{i\lambda})(\lambda zh'(z) + (1 - \lambda)h(z)) - (1 + ke^{i\gamma})(zh'(z)) \\
&\quad + \overline{((1 + \alpha) + ke^{i\lambda})(-\lambda zg'(z) + (1 - \lambda)g(z)) - (1 + ke^{i\gamma})(-zg'(z))}| \\
&\quad \left| \alpha z + \sum_{n=1}^{\infty} (n(1 + ke^{i\lambda}) - (\lambda(n + 1) - 1)(1 + \alpha + ke^{i\lambda}))a_n z^{-n} \right. \\
&\quad \left. + \sum_{n=1}^{\infty} (n(1 + ke^{i\lambda}) - (\lambda(n - 1) + 1)(1 + \alpha + ke^{i\lambda}))b_n z^{-n} \right| \\
&\geq \alpha|z| + \sum_{n=1}^{\infty} (n(1 + k) - (\lambda(n + 1) - 1)(1 + \alpha + k))|a_n||z|^{-n} \\
&\quad + \sum_{n=1}^{\infty} (n(1 + k) - (\lambda(n - 1) + 1)(1 + \alpha + k))|b_n||z|^{-n},
\end{aligned}$$

then

$$\begin{aligned}
& |A(z) + (1 - \alpha)B(z)| - |A(z) - (1 + \alpha)B(z)| \\
& \geq 2(1 - \alpha)|z| - 2 \sum_{n=1}^{\infty} (n(1 + k) - (\lambda(n + 1) - 1)(-\alpha - k))|a_n| |z|^{-n} \\
& \quad - 2 \sum_{n=1}^{\infty} (n(1 + k) - (\lambda(n - 1) + 1)(\alpha + k))|b_n| |z|^{-n} \\
& = 2|z| \left\{ 1 - \alpha - \sum_{n=1}^{\infty} (n(1 + k) - (\lambda(n + 1) - 1)(-\alpha - k))|a_n| |z|^{-n-1} \right. \\
& \quad \left. - \sum_{n=1}^{\infty} (n(1 + k) - (\lambda(n - 1) + 1)(\alpha + k))|b_n| |z|^{-n-1} \right\} \\
& \geq 2 \left\{ 1 - \alpha - \sum_{n=1}^{\infty} (n(1 + k) - (\lambda(n + 1) - 1)(\alpha + k))|a_n| \right. \\
& \quad \left. - \sum_{n=1}^{\infty} (n(1 + k) - (\lambda(n - 1) + 1)(\alpha + k))|b_n| \right\} \geq 0,
\end{aligned}$$

by (2.1).

We next show that the condition (2.1) is also necessary for functions in $M_{\overline{H}}(\alpha, \lambda, k)$.

Theorem 2.2. *Let $f = h + \overline{g}$ with h and g be given by (1.4). Then $f \in M_{\overline{H}}(\alpha, \lambda, k)$ if and only if the inequality (2.1) holds for the coefficient of $f = h + \overline{g}$.*

Proof. In view of Theorem 2.1, we need only to show that $f \notin M_{\overline{H}}(\alpha, \lambda, k)$ if the condition (2.1) does not hold. We note that for $f \in M_{\overline{H}}(\alpha, \lambda, k)$, by (1.3) the condition (2.2) must be satisfied for all values of z in \tilde{U} . Substituting for h, g, h', g', h'' and g'' in (2.2) and

choosing values of z on the real axis where $0 \leq z = r > 1$, we are required to have $\operatorname{Re}\{A(z)/B(z)\} \geq 0$, where

$$A(z) = (1 - \alpha) - \sum_{n=1}^{\infty} (\{n(1 + ke^{i\lambda}) - (\alpha + ke^{i\lambda})[(\lambda(n+1) - 1)]\} |a_n| + \{n(1 + ke^{i\lambda}) - (\alpha + ke^{i\lambda})[(\lambda(n-1) + 1)]\} |b_n| |z|^{-n-1})$$

and

$$B(z) = 1 + \sum_{n=1}^{\infty} (1 - \lambda(n+1)) |a_n| |z|^{-n-1} - \sum_{n=1}^{\infty} (1 - \lambda(n-1)) |b_n| |z|^{-n-1}.$$

For $\operatorname{Re}(e^{i\gamma}) \leq |e^{i\gamma}| = 1$ the required condition $\operatorname{Re}\{A(z)/B(z)\} \geq 0$ is equivalent to

$$\frac{(1 - \alpha) - \sum_{n=1}^{\infty} (\{n(1 + ke^{i\lambda}) - (\alpha + ke^{i\lambda})(\lambda(n+1) - 1)\} |a_n| + \{n(1 + ke^{i\lambda}) - (\alpha + ke^{i\lambda})(\lambda(n-1) + 1)\} |b_n|) r^{-n-1}}{1 + \sum_{n=1}^{\infty} (1 - \lambda(n+1)) |a_n| |r|^{-n-1} - \sum_{n=1}^{\infty} (1 - \lambda(n-1)) |b_n| |r|^{-n-1}}. \quad (2.6)$$

If the condition (2.1) does not hold, then the numerator of (2.6) is negative for z sufficiently close to 1. Thus there exists a $z_0 = r_0 > 1$ for which the quotient in (2.6) is negative. This contradicts the required condition for $f \in M_{\overline{H}}(\alpha, \lambda, k)$ and so the proof is complete.

3. Distortion Bounds and Extreme Points

In this section, we shall obtain distortion bounds for functions in $M_{\overline{H}}(\alpha, \lambda, k)$ and also provide extreme points for the class $M_{\overline{H}}(\alpha, \lambda, k)$.

Theorem 3.1. If $f \in M_{\overline{H}}(\alpha, \lambda, k)$, for $0 \leq \alpha < 1$ and $|z| = r > 1$, then

$$r - (1 - \alpha)r^{-1} \leq |f(z)| \leq r + (1 - \alpha)r^{-1}.$$

Proof. We only prove the right hand inequality. The argument for left hand inequality is similar and will be omitted. Let $f \in M_{\overline{H}}(\alpha, \lambda, k)$. Taking the absolute value of f , we obtain

$$\begin{aligned} |f(z)| &= \left| z + \sum_{n=1}^{\infty} a_n z^{-n} - \sum_{n=1}^{\infty} b_n \bar{z}^{-n} \right| \leq r + \sum_{n=1}^{\infty} (a_n + b_n) r^{-n} \\ &\leq r + \sum_{n=1}^{\infty} (a_n + b_n) r^{-1} \\ &\leq r + \sum_{n=1}^{\infty} (\{n(1 + ke^{i\lambda}) - (\alpha + ke^{i\lambda})(\lambda(n+1) - 1)\} |a_n| \\ &\quad + \{n(1 + ke^{i\lambda}) - (\alpha + ke^{i\lambda})(\lambda(n-1) + 1)\} |b_n|) r^{-1} \\ &\leq r + (1 - \alpha)r^{-1}. \end{aligned}$$

Theorem 3.2. $f \in M_{\overline{H}}(\alpha, \lambda, k)$ if and only if f can be expressed as

$$f(z) = \sum_{n=0}^{\infty} (x_n h_n + y_n g_n), \quad (3.1)$$

where

$$\begin{aligned} z \in \tilde{U}, \quad h_0(z) = z, \quad h_n(z) &= z + \frac{(1 - \alpha)}{(n(1 + k) - (\lambda(n+1) - 1)(\alpha + k))} z^{-n}, \\ g_0(z) = z, \quad g_n(z) &= z - \frac{(1 - \alpha)}{(n(1 + k) - (\lambda(n-1) + 1)(\alpha + k))} \bar{z}^{-n}, \quad (n = 1, 2, \dots), \end{aligned}$$

$$\sum_{n=0}^{\infty} (x_n + y_n) = 1, \quad x_n \geq 0 \quad \text{and} \quad y_n \geq 0.$$

Proof. Note that for f we may write

$$\begin{aligned}
 f(z) &= \sum_{n=0}^{\infty} (x_n h_n + y_n g_n) \\
 &= x_0 h_0 + y_0 g_0 + \sum_{n=1}^{\infty} \left[x_n \left(z + \frac{(1-\alpha)}{(n(1+k) - (\lambda(n+1)-1)(\alpha+k))} z^{-n} \right) \right. \\
 &\quad \left. + y_n \left(z - \frac{(1-\alpha)}{(n(1+k) - (\lambda(n-1)+1)(\alpha+k))} \bar{z}^{-n} \right) \right] \\
 &= \sum_{n=0}^{\infty} (x_n + y_n) z + \sum_{n=1}^{\infty} \frac{(1-\alpha)}{(n(1+k) - (\lambda(n+1)-1)(\alpha+k))} x_n z^{-n} \\
 &\quad - \sum_{n=1}^{\infty} \frac{(1-\alpha)}{(n(1+k) - (\lambda(n-1)+1)(\alpha+k))} y_n \bar{z}^{-n}.
 \end{aligned}$$

Now the first part of the proof is complete, since by Theorem 2.2,

$$\begin{aligned}
 &\sum_{n=1}^{\infty} \left[(n(1+k) - (\lambda(n+1)-1)(\alpha+k)) \left(\frac{(1-\alpha)}{(n(1+k) - (\lambda(n+1)-1)(\alpha+k))} x_n \right) \right. \\
 &\quad \left. + (n(1+k) - (\lambda(n-1)+1)(\alpha+k)) \left(\frac{(1-\alpha)}{(n(1+k) - (\lambda(n-1)+1)(\alpha+k))} y_n \right) \right] \\
 &= (1-\alpha) \sum_{n=1}^{\infty} (x_n + y_n) \leq 1-\alpha.
 \end{aligned}$$

Conversely, suppose that $f \in M_{\overline{H}}(\alpha, \lambda, k)$. Then

$$\begin{aligned}
 &\sum_{n=1}^{\infty} \left[\frac{(n(1+k) - (\lambda(n+1)-1)(\alpha+k))}{1-\alpha} a_n \right. \\
 &\quad \left. + \frac{(n(1+k) - (\lambda(n-1)+1)(\alpha+k))}{1-\alpha} b_n \right] \leq 1.
 \end{aligned}$$

Setting

$$x_n = \frac{(n(1+k) - (\lambda(n+1) - 1)(\alpha + k))}{1 - \alpha} a_n,$$

$$y_n = \frac{(n(1+k) - (\lambda(n-1) + 1)(\alpha + k))}{1 - \alpha} b_n, \quad 0 \leq x_0 \leq 1$$

and

$$y_0 = 1 - x_0 - \sum_{n=1}^{\infty} (x_n + y_n),$$

we obtain $f(z) = \sum_{n=0}^{\infty} (x_n h_n + y_n g_n)$ as required.

4. Convolution and Convex Linear Combination

In this section, we show that the class $M_{\overline{H}}(\alpha, \lambda, k)$ is invariant under convolution and convex linear combination of its members.

For harmonic functions

$$f(z) = z + \sum_{n=1}^{\infty} a_n z^{-n} - \sum_{n=1}^{\infty} b_n \bar{z}^{-n}$$

and

$$F(z) = z + \sum_{n=1}^{\infty} A_n z^{-n} - \sum_{n=1}^{\infty} B_n \bar{z}^{-n},$$

the convolution of f and F is given by

$$(f * F)(z) = f(z) * F(z) = z + \sum_{n=1}^{\infty} a_n A_n z^{-n} - \sum_{n=1}^{\infty} b_n B_n \bar{z}^{-n}. \quad (4.1)$$

Theorem 4.1. For $0 \leq \beta \leq \alpha \leq 1$, let $f \in M_{\overline{H}}(\alpha, \lambda, k)$ and $F \in M_{\overline{H}}(\beta, \lambda, k)$. Then $f * F \in M_{\overline{H}}(\alpha, \lambda, k) \subset M_{\overline{H}}(\beta, \lambda, k)$.

Proof. Suppose f and F are in $M_{\overline{H}}(\alpha, \lambda, k)$ so that $f * F$ is given by above convolution. Since $f \in M_{\overline{H}}(\alpha, \lambda, k)$ and $F \in M_{\overline{H}}(\beta, \lambda, k)$, the coefficient of f and F must satisfy conditions given in Theorem 2.2. So for the coefficient of $f * F$ we can write

$$\begin{aligned} & \sum_{n=1}^{\infty} (\{n(1 + ke^{i\lambda}) - (\alpha + ke^{i\lambda})(\lambda(n+1) - 1)\} a_n A_n \\ & + \{n(1 + ke^{i\lambda}) - (\alpha + ke^{i\lambda})(\lambda(n-1) + 1)\} b_n B_n) \\ & \leq \sum_{n=1}^{\infty} (\{n(1 + ke^{i\lambda}) - (\alpha + ke^{i\lambda})(\lambda(n+1) - 1)\} a_n \\ & + \{n(1 + ke^{i\lambda}) - (\alpha + ke^{i\lambda})(\lambda(n-1) + 1)\} b_n). \end{aligned}$$

The right hand side of the above inequality is bounded by $1 - \alpha$ because $f \in M_{\overline{H}}(\alpha, \lambda, k)$. Thus $f * F \in M_{\overline{H}}(\alpha, \lambda, k) \subset M_{\overline{H}}(\beta, \lambda, k)$.

Finally, we examine the convex combination of $M_{\overline{H}}(\alpha, \lambda, k)$.

Let the functions $f_j(z)$ be defined, for $j = 1, 2, \dots$, by

$$f_j(z) = z + \sum_{n=1}^{\infty} a_{n,j} z^{-n} - \sum_{n=1}^{\infty} b_{n,j} \bar{z}^{-n}, \quad a_{n,j} \geq 0, \quad b_{n,j} \geq 0. \quad (4.2)$$

Theorem 4.2. *Let the functions $f_j(z)$ defined by (4.2) be in the class $M_{\overline{H}}(\alpha, \lambda, k)$ for every $j = 1, 2, \dots$. Then the functions $t(z)$ defined by*

$$t(z) = \sum_{j=1}^{\infty} c_j f_j(z), \quad (0 \leq c_j \leq 1) \quad (4.3)$$

are also in the class $M_{\overline{H}}(\alpha, \lambda, k)$, where $\sum_{j=1}^m c_j = 1$.

Proof. According to the definition of t , we can write

$$t(z) = z + \sum_{n=1}^{\infty} \left(\sum_{j=1}^{\infty} c_j a_{n,j} \right) z^{-n} - \sum_{n=1}^{\infty} \left(\sum_{j=1}^{\infty} c_j b_{n,j} \right) \bar{z}^{-n}. \quad (4.4)$$

Further, since $f_j(z)$ are in $M_{\overline{H}}(\alpha, \lambda, k)$ for every $(j = 1, 2, \dots)$, by (2.2) we have

$$\begin{aligned} & \sum_{n=1}^{\infty} \left\{ (n(1 + ke^{i\lambda}) - (\alpha + ke^{i\lambda})(\lambda(n+1) - 1)) \sum_{j=1}^{\infty} c_j a_{n,j} \right. \\ & \quad \left. + (n(1 + ke^{i\lambda}) - (\alpha + ke^{i\lambda})(\lambda(n-1) + 1)) \sum_{j=1}^{\infty} c_j b_{n,j} \right\} \\ &= \sum_{j=1}^{\infty} c_j \left\{ \sum_{n=1}^{\infty} [(n(1 + ke^{i\lambda}) - (\alpha + ke^{i\lambda})(\lambda(n+1) - 1)) | a_{n,j} | \right. \\ & \quad \left. + (n(1 + ke^{i\lambda}) - (\alpha + ke^{i\lambda})(\lambda(n-1) + 1)) | b_{n,j} |] \right\} \\ &\leq \sum_{j=1}^{\infty} c_j (1 - \alpha) \leq (1 - \alpha). \end{aligned}$$

Hence the theorem follows.

References

- [1] J. Clunie and T. Sheil-Small, Harmonic univalent functions, Ann. Acad. Sci. Fenn. Ser. A, I. Math. 9 (1984), 3-25.
- [2] W. Hengartner and G. Schober, Univalent harmonic functions, Trans. Amer. Math. Soc. 299(1) (1987), 1-31.
- [3] J. M. Jahangiri, Harmonic meromorphic starlike functions, Bull. Korean Math. Soc. 37 (2000), 291-301.
- [4] J. M. Jahangiri and H. Silverman, Meromorphic univalent harmonic functions with negative coefficients, Bull. Korean Math. Soc. 36 (1999), 763-770.

- [5] T. Rosy, B. A. Stephen, K. G. Subramanian and J. M. Jahangiri, A class of harmonic meromorphic functions, *Tamkang J. Math.* 33(1) (2002), 5-9.

School of Mathematical Sciences
Faculty of Science and Technology
Universiti Kebangsaan Malaysia
Bangi 43600 Selangor D. Ehsan, Malaysia
e-mail: ommath@hotmail.com
maslina@pkrisc.cc.ukm.my